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(€Y
Fc a bP cP? Fc P MW
Q) b c
250 316 4.6 0.00105
500 200 5.0 0.00005
700 260 5.0 0.00038
LNG 200 66 2.2 0.00250
700 117 2.4 0.00040
200 40 2.0 0.00020
700 182 1.3 0.00016
1000 550 0.4 0.00070
100 104 0.9 0.00073
250 120 1.4 0.00166
@
A BCD
/N
( A(0.25,0.45)
B(1.00,0.15)
> P
( /C(l,OO,—O.15)
D(0.25,—0.35)
700MW

pu



A B c D
250 0.20,0.50 | 1.00,0.50 | 1.00,-0.10 | 0.20,-0.15
500 0.20,0.50 | 1.00,0.50 | 1.00,-0.05 | 0.20,-0.20
700 0.25,0.45 | 1.00,0.15 | 1.00,-0.15 | 0.25,-0.35
NG 200 0.40,0.65 | 1.00,0.65 | 1.00,0.00 | 0.40,0.00
700 0.20,0.70 | 1.00,0.39 | 1.00,0.08 | 0.20,-0.37
200 0.20,0.65 | 1.00,0.65 | 1.00,0.00 | 0.20,-0.15
700 0.15,0.50 | 1.00,0.50 | 1.00,0.15 | 0.15,-0.20
1000 0.30,0.50 | 1.00,0.50 | 1.00,-0.10 | 0.30,-0.30
100 0.30,0.50 | 1.00,0.50 | 1.00,-0.25 | 0.30,-0.35
250 0.25,0.50 | 1.00,0.50 | 1.00,-0.30 | 0.25,-0.30
100 0.35,0.30 | 1.00,0.30 | 1.00,-0.30 | 0.35,-0.30
250 0.25,0.25 | 1.00,0.25 | 1.00,-0.05 | 0.25,-0.25
1000 — 1.00,0.45 | 1.00,-0.10 —
()
( 2 B C
(©) (OEL)
XOED=5 t(Ef-VOED) AOED Ef=VOEL
VOED
'XOED' AOED
Ef=VOEL
VOED  AOED VOEL
OED [VOED] OEL [AOED] OEL [VOEL]
(pu) (pu_ ) (pu)
1.05 3.0 0.98
1.06 10.0 1.00
) (1pu)
©)
( )
2 8
20 50
20 30




®

1 72
W (pu) (pu) (pu)
19.5/525 0.005 1.100 1.000 21
19.5/525 0.025 1.100 1.025 4
24.0/500 0.00625 1.080 0.980 17
22.5/500 0.02 1.050 0.950 5
19.0/275 0.005625 1.045 0.955 17
17.55/275 0.0227 1.0681 0.9773 4
22.0/220 0.0225 1.090 1.000 5
( D 2 0.0454pu, 0.0227pu
2 pu (= 2 )
(¢ 3 G )
1.3 ( )
13
(1000MVA pu )
(kv)
1 2 3
(MVA)
500/275/70
1000/1000/300 0.178 -0.022 0.410
500/190/63
750/750/200 0.245 -0.036 0.383
275/154/33
450/450/135 0.524 -0.045 0.672
( )
1 /72
) (pu) (pu) (pu)
500/275 0.0045 1.0495 0.9505 23
500/190 0.0070 1.0490 0.9510 15
275/154 0.0105 1.0420 0.8740 17
) pu 1 )
@
(1000MVA pu )
(kv)
(VA 1 2 3
500/275/63
1500/1500/450 0.105 -0.012 0.265
500/275/73.5
1000/1000/300 0.186 -0.046 0.613
500/220/63
1000/1000/300 0.196 -0.032 0.289




( )
1 /72 (3 )
s (pu) (pu) (pu)
525/275(63) 0.00525 1.10775 0.99225 23
500/275(63) 0.0050 1.0550 0.9450 23
500/275(73.5) 0.0045 1.0495 0.9505 23
500/220 0.0045 1.0495 0.9505 23
(GEY) pu (= 1 )
( 21 3 Vo)
( kV)
Vt= 2 X
2
LRT
, PE-89-112
©)
[DTAP] (pu) [ATAP](puv )
0.01 0.5 6
0.01 1.2 10
VTAP+DTAP
VTAP }
VTAP-DTAP I\
'XTAP' 'ATAP'
1
VTAP
()
1 ) ) ()
0.9 15.0 0.0
1.4
€Y




(kv) (kv) kV) (kv) (kv) (kv)
545 525 287.5 275
550 287.5 263
500 525 495 275 300
525 500 287.5 267
515 485 287.5
510 490 290 231 209
230 220
743
1.5
@ ( )
(
Vv 3x ( )x ( )x (. =0.95)
( )
kV) (D)
410mm? 1,100
2
TACSR 410mm°x 4 4,400
500kV 810mm? 1,700
810mm*x 4 6,700
XTACIR 400mm? 1,400
2
275KV ACSR 410mm<x 4 1,500
TACSR 810mm’x 4 3,000
2
220k TACSR 81Omm2 740
XTACIR 400mm 640
@
( )
( )
1.6
@
(
0.6
1.0
PQ
P 1 2
Q=a bP cP P:MW Q:Mvar




™
p p
)
P
-86 0.38 0.0 | 600MW
41 0.11 | 0.0015 | 300MW
~2000 0.6 0.0 | 6000MW
(©)
(pu)
0.85
0.82
0.77 50
)
RI(Q) R2(Q) X1(Q) X2(Q) xn(Q)
0.011 0.007 0.063 0.085 2.1
0.015 0.015 0.112 0.171 1.11
0.18 0.17 3.52 2.9 56.8
0.088 0.079 2.217 1.879 39.910
0.057 0.125 1.343 1.556 31.745
0.375 0.286 4.005 4.148 147.318
0.0276 0.0181 0.0572 0.0018 2.73
1.7
(€))
sc 20%  30%
ShR 10%  20%
@
2 3%
sc  5,10,15,20,24,30,40,50, 60,80, 120MVA
ShR  30,40,50,60,75,100,200 MVA
(©)
SC 22,33,66,77kV
ShR  22,33,63,66,77,187,500 KV
O]
vac




(5)sVC

V) TCR  (WA) sC (WA
526 536 100 80
275 281 100 240
1 10%




